Foserr Drawer Kits

Innovative solutions, inspired by ice Single - P/N 01053644 and Double - P/N 01067750

Installation Instructions

Tools required Parts per Drawer
e #2 Phillips screwdriver 1) Drawer
* 3/8" Wrench 4) Acorn nut
8) Rollers
4) Philips head screws 10-32

Flat head Philips head screws
Drawer slides

Spacer

Straight kickplate (per kit)

2
4

(
(
(
(
(
(
(
(1

~
o222

Installation Fig. 1
Before beginning installation

Follett’s REF/FZR drawer kit may be used ONLY with REFs or o
FZRs equipped with a STRAIGHT bottom kickplate (Fig. 1). °f

If your REFs or FZRs have recessed kickplates (Fig. 2), replace

them with the straight kickplates included with this kit.
Installing levelers

1. Remove levelers from plastic bag packed inside unit.

2. Tip refrigerator back and screw levelers (Fig. 3) in all
the way to stop (they will extend 1/8" below base).

3. Adjust levelers as needed to level unit in both directions.
To access levelers, remove the lower front panel. Turn
levelers clockwise to extend levelers.

o
=

Fig. 2

)

Fig. 3

@Q=-0
@=-0

Q=+
@0

801 Church Lane ¢ Easton, PA 18040, USA

Toll free (877) 612-5086 * +1 (610) 252-7301
www.follettice.com 01067586R00



Installing Drawer

INcaution:

= Do not use casters on units with drawers. Personal injury or damage to unit could result.
1. Remove drawer packed as an accessory.
2. Install the two rollers to the threaded holes on each side of the inside of the cabinet.

3. Hang one drawer slide on the each side of the cabinet by holding the slide parallel to the bottom of
the cabinet, tipping the slide at a 45 degree angle, and pushing the slide over the two rollers.

4. Once the drawer slides are installed, slide the two rear rollers of the drawer into the slots on the top
of the lower channel of the slides. Tip up the front of the drawer and slide the back until the front
drawer roller lines up to slot. Drop the front drawer roller into the channel and push the drawer all
the way in the cabinet.

5. Test operation of the drawer by sliding the drawer all the way out, then back in.

5/8" screws
7/8" screws

spacer

acorn nuts

roller bearings

5/8" screws

/ spacer

7/8" screws

Toll free (877) 612-5086 + +1 (610) 252-7301 01067586R00

Innovative solutions, inspired by ice www.follettice.com © Follett Corporation 6/14



